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Math 16A Midterm 2 (001) 9.10am - 10am

This exam consists of 5 questions. Answer the questions in the
spaces provided.

1. (25 points) Calculate the derivatives of the following functions: (You do not need to use
the limit definition and you do not need to simplify your answers)
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2. (25 points) A company is selling a product. The demand equation for the product is
p=169 — ¢*

where p is the price per unit and ¢ is the number of units sold.

(a) Determine the elasticity E(p). A€ bk ,rio. Aoy Anar hoe nd
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(b) If they are selling 12 units, should they increase or decrease the price to raise
revenue? Justify your answer.
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3. (25 points) Find and classify the relative extrema of the following function:

fz) = 223 _ 5/3

Be sure to carefully justify your answer.
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4. What is the maximum possible value of x + 6y subject to the condition z+1* = 4, where

x and y are non-negative numbers?
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5. Sketch the following curve. If they exist, be sure to indicate, relative maxima and minima
and inflection points. Show your working on this page and draw the graph on the next

page. -
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Solution (continued) :
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END OF EXAM









